CASBEELBIZH+HERIEHDRERERITBE

KT ROZERICIRRRERG OBMEEIASL TS,

BT $BiRiE - TR

CASBEEILE; 20134FiB##iRVer.2 (BPI/BEI )

B2 E I B EXTEREE I
W1, NhECREREX R IDHE
1.1 BYoEEmHH
@Ah) KEEEEEERCEHRLTTEEND
MFRMERED 1 455U B 51 B DI BLI = & Y BPI=0.257 2|RRER i |t
5.0 0.89 |wi|THRiLF— 1|20 BE HHE
INET| 4.8 0.18
1.2 BARAIRILT—DOFA
@Avh) XEEREEMRICREL T 3.0 0.50 [wi|THrx— 2| BATALE —FIF 21|BRIAE -OEEFA
BIREICABARE/ RLERE 40 050 |wi|THL¥— 2| BT L -FIR 22 BRI - D LTI A
INE
1.3 BREATLOEMEE
[EEDID) XEEBEFZEZICEH LTSN, O 50 | 1.00 |LR1|I:?~)|,#‘— 3|E§{ﬁﬁ’/17"ix0)%§jj$1t| | | |
EME#BRORARUVBAE /LY —FIAICKY
BEI=0.66
Mgt 50 | 016 |
1.4 FBEATLDFHEMER
(arvh) KERBIELBRICEHL TSN IfILF— A|ZhEMIER 41|E=RYY
IRILF— 4|1ZhERIER 4.2|:EFRE K
ING
15 ER-ITUTILRE
QAU XEBEBEFERICREHLTGEZSWL. O 4.0 008 |wr|am-<7u7.L 1lxzmEEmE 11| =k
BiKE K (E 2R R KE6.5L/ELLT) 3.0 0.08 [wre|&m-<7u7r | 1|kamEERE 12|MAkRE-HkERE | 1|EkRmE T iE AR
FFBEER: €O - EZ LIRS —h- BT 3.0 0.04 |[|wre|&E-=7UT7L | 1|KEERE 1.2| Rk FI A - HKEFIA 2| BB AERL AT LEADEE
2.0 0.06 [wre|&EE-<FUTIL | 2|kBEEHaEoERELE |2.1|HEEHEE 05
3.0 019 |wre|&E-<TU7IL | 2|kEsuaEommEsm |2.2|BEREEASOREER
3.0 016 |wre|&E-=TUTIL | 2|EsMEEOBRAEEIRE |2.3|BEsBET 2092 LHORER
50 016 |[|Re|&EE-<TUTIL | 2|rEst@RoEREEIRE |2.4|FMEmRIZET 2091 I LHOERA
3.0 0.04 |wre|&EE-<FUTIL | 2|EBEREEOERBEIR |2.5aTanmmnsEmsnAH
3.0 019 |wre|&E-=TUTIL | 2|kEsMEEOEREERE |2.6|@H0BHRTELR LAORAH
Net| 33 | 031
1.6 A7 AY)LCO2HHHFE
AUk XEEFREMRICEBL UL 39 | 1.00 |w|senms i|wmEge~omE | | | |
BrEAERER U TR ERED A EIZLYLCCO2 76%
INEH| 3.9 0.13
1.1 2R GR BR 1L %4 58 | 0D ¥ D &4 39 0.71
W2 [E—F7ASURRRIDHEE
2.1 REMRIEDME
QAh) XEEBEEHRCEBL TS, 10 0.49 |a3|=stmssinm) | 1[£MBBEORS AL
3.0 0.24 |Q3|=s/BE Ehm) | 3|t -7 AT~ OERE 3.2 St RERIBE DR L
2.0 0.27 |-ro|BhtthstIRtE 2| i IR A~ DB 22 BRBREELOHRE
INET[ 1.8 0.97
22 RBERHIH
QAN KEEBEEMRICRHL T, 30 | 1.00 |w|supsims Jmmp~org  |2fmE os~oamm | xaammnm
INR 3.0 0.03
2.TE=FPA7U0 3R | D HEHE D FF A 1.8 0.18
W3. [REMILXIRIOHE
3.1 MmAMDRELE
(AR RERFREMRISERLTISL, 4.0 047 |az[y—exizee o| Rt - (2 A 21|me-BHORAEN 1|mEn
FE S ELHE S (D 25%HE DT B A FE IR 30 012 |oz2|+—ezise 2|t Rt - (S HEME 2.1 |8 - B0 DT RIS 2| it - R BE
JﬁL;::I:“:_ill;r;E;((—O;(%OE) NEE EP(654F) RFH: | 3.0 0.09 |o2|—E=xttsE 2|t Rt - S A 2,288 & - ERH DT FA E 3K 1| SR A Ot 3
DM —F( 730 [ 009 [cols—cxmee | o|mme metk 22| WME - BHOMBEN | 2B ETHORELENR
.’;ﬁrﬁik : %Uf%%((%:%%i)) oK BEKRAREIEES — 004 |oz|v—txteee 2|t Et - (S EE 22| 8% - SH DT AEH 3|z B £ FHOEH LB
3F%%%%j%@ﬂ§€ﬁi~ HiRE - B R 2R 3.0 0.03 |q2|y—ERi%AE 2|t FAYE - 1S8R 2.2| 88 & - BB DD FA S 21 4| ZRB/ES V- OEHLEMR
FEEREERELTLVELY 4.0 0.06 [|az2[p—Extse 2|t Pt - {5 HE 2,288 & - &R H DT FA 51 5|z wkEEOEHBEMR
A8V —T )b PHSHDEH>TLVS 3.0 009 |oz[v—Extese 2|t At - (R A 2|8 EH DR AER o|rEREREOEFLENR
INET| 3.6 0.70
32 F‘IEDEHFHM
(QAVE) XEFOFELRRISERL-BRELRLTIEN. | 30 017 [az[r—extse 3|t - Ea b 33| BBOEHH 1|=mEEoEm®
3.0 017 |oz2|s—ezise 3|t - Bt 33|mmoEDHE 2|ekEmE DB
30 011 |oz2|4—ezise 3|t - EEE 33|mmBoESE I EREBRDOEL
3.0 0.11 |oz2|4—Exise 3|t - Bt 33|mmoESH slEERgoES "
3.0 0.22 |oz2|4—exzme 3|t - EgtE 33|mmoESH 5| B OB
3.0 022 |oz2|4—ezise 3|ttt - EEE 33|mmoESE e
INET] 3.0 0.30
SIRFMIEXMRIDHEDNDFH R (LEE2IEE) | 34 0.10
BEREEOHKRTY(LFEIER) 35




